Exam | Review (chon O(Jfﬂ

@ hik)= % ) ‘de W (). \—I ac,l;&,.{._ﬂ:%[%-::f]
L @23 )Y - (3¢-) (£ .y
shedl E-2)" .
(i) = (b-2)(3) - (2 0p-1) (2 () )
NTB-2)%
_ (42X3) - (31b-1) (2 %)
f =t
2.2 2 (At w)
o =

2% N
(= 2] al)= =g = =8
%’C s Zz—s)(ﬂ{x"’l)) - 2& (2x¢)
AT (x=8)°

4
)= (& 4k ) *+ % axLej‘{‘;T&nﬁ |
peodUC T !

= e*tan % t¥ [6-3’”cclh><+e"&cc?;‘\r
= | % banx + e tany e ¥sec

_\ o (favir ¥ TN x4¥sec?x )
il Lt




\**Zto\ 240 -+ buildivg
o) = - 1024326 +240  (ignt)
Onak (8 V0 when ¥ Yoall kis KAt Ground?

Ls Bind wheve s@)=0
< lpt?+ 32t+240=0

e et R e A e .

P

L2 24 -15=0
(b-5)(4+3)=0

Then find v(5). £=5 or_ 73

| Hw 9 # 0]
- axenX,
/= Aing + 4% oS X

g(ﬂ)=ﬁﬁﬁrﬁ"0 %}CTI)= Mwﬁz}mosn

v =~ 4T

(TT,O): (Xo;ﬂo>
%”(do"‘m(}“)(o) (E%Vl D-C civele’ >

2 -
8 5—471'(_)(-7'[) (55’("\) "L(B'k)z“‘f‘?'
-

FAnd {am@m%- Line o4 x=T7.

ok B’M’Hb ok (m0)t 0= -4nlw)+b
5"4”“[” b = 4n*




[t 10#13] (ohwr Foncions *3)

lj‘ SxYesex
3 = 5(?x8)CSC>4 + 5><°'( escxcobx )
HSx csex - 5xlese weot x|

.| ’Sx tesex (9 - xcotx)

l,\m F(X) + lF(,I)
s '\;,x\s’\'ﬂ

EL_ I True (x=t hole, x=2 jump, x=4 hole )
1. Rlge (Um F)=2 lm Px)=23)
} N3

KBS

L. False (g TOO=2= Um L))

Y24

I - False  (lm Px)=1)

!

|



Brom | Review (Sechion 023)

el
s Pl)= 107 e

Final PI(Z)
Pt) =

(2£%49)(50) - s0t( 4L)
(2b1+Q)z
h-27+4) (s0) = 502U (2
(2.24+9)°

P(2) =

W20 2
- bm W -:?\
W0 Z
Zx\m\n ¥
__,_,____,

I\
ﬂ-ﬂ

§rw 2&%& i wistoYe n Une &)
=0



B35 f(x)= X Find ’cm-\ﬂ@ﬁ e o x:—g

Fiix) = lgCoS >
C'(%) = (geos (Z)

Q(%)z@%m(%)
:(p(%) . ilz)
= 22 = 3
2 303) = (%1Ye) m= 3
3-50=MCX-XD) 5=m>u-b
y-32= 3(x-1) R y=3x+b

m 3(3 = 3(Z)+h
4 - 3(3-T = b

840 {(Yan )(see x+1)

oy gg(fx (5@(; X+\) + ton X (Sac% £<m><>

- Toee, 3xa Sec Ty # REX Yan X
— |0 L% (S(’,C,zX'\' ey + ton’x )
...---—--w—---__'_,_,_-——-"""'_”— “““““““““
ich L+
* 4 whieh 5 MO ;
R S
& \/\m *’7’ :’SMP‘ 0 \/




LIV ;{i’{} %b(): %

_..| O

i % e e %omﬁv\'mg cancels

X %“?l

i %
%'_3 | (x+1) ety

1

NI~

= Wm %« ~
Y- |
o e Umit exste!
, l L :
Tl S e
X+t
X -| \ ‘
. O =y = =00
Um X+1 © -SMALL
%->-1" l UV“H'
. __L_ TS R
UM Sar = +SMALL ¥,y DNE
Y-\
¢l B s TE VA
we =1 P 0
15 -
\/;v—valﬂ" Y2-1 T asMALL = T % Lt
DNE
e - =l =+ e0

\/;Yﬂ_ﬁ WL —sMALL T



